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Peptide coverage map of Notch3 NRR (Common peptides found from three different sets of experiments).

[ LNR-A J
E P R C PR AATCIO QA AI KU RGD O QT RT CUDZ RETGCNSU&PGTC G
1384 1390 1400 1410
[ LNR-A | [ LNR-B |
W D G G D C S L S V GDPWP RO QU CEA AL QT CMWI RTULTFNN
1 e
[ LNR-B | ]
S R C D PAC S S PACULVYDNTFDT CHA ASGTG GU RETRTC

1440 1450 1460

[ LNR-C
N P V Y E K Y C A D H F A DGR CUDIO QS GT CNTEETCG W
1490
= - ——
[ LNR-C | [ HD-N |
D G L Db CcC A S EV P A L. LA R GV L VL TV L L P P E E
1500 1510 1520

HD-N
L L R S s A D VF L Q R L S A ILURTSULURUVFIRULUDA AUH G

1330 1540 1330
[ HD-N I HD-C |
Q A MV F P Y H R P S P G S E P R A RRE L A P E V I G

1560 1570

[ HD-C
S vV vV M L E I DNUZRUILTUCULIO QS ?PENUDU HT CT FU&PUD- AU GQ S A
1580 1590 1600

HD-C
A D YL GAL S AV EURULDU FU?PY PLRUDV R G E P L E
1610 1620 1630

HD-C |
P P E P S
1640

Figure S2



0 10 20 30 40 50% and up Undetermined

Figure S3



N3NRR (triplicates)
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N3NRR vs N3NRR+EDTA
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N3NRR vs N3NRR + A13 1gG (Activating antibody)

Figure S4C
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